Name A A S Loty K €y

Circumference and Area of Circles Date Perio
Find the area of each. Round your answer to the nearest tenth.
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Find the circumference of each circle.

Round your answer to the
nearest tenth.
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Find the radius of each circle.
tenth.
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Round your answer to the nearest
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Find the diameter of each cnrcle Use your calculator's value of . Round your answer to the nearest

tenth.
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Find the circumference of each circle.
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Find the area of each.
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Crltlcal thmkmg question:

27) Find the radius of a circle so that its area
and circumference have the same value.
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